>
|
F

100 & 2734 B2 p 425 100 £ A B2 7 4 aam J@*iggg (53
A L3]I
I R T A
SRR EaAms B (FRMESE)
TEPEE L 2P s
Wad L OF U I E R
(O )AL 0 (EF PRFHasTATSE B2 RBIEA B asgE L o AR FE L 0 2 A o

- ~Ae@l- AT o - TR G 50 kg eE iR i AB - ki bR ek 6 g s i
i B s 020 (pg=020) o £ 4cE - BB UL ERE 0 L E e ek

boo e B filics 030 (pg=0.30) o3+ Rt sMaE ] TE - (204)

-

3m

= el T L L ARARE © (RPHE B SRR

OFFABEE 4 o (154 )
©% 1 #RanT 4 {os* 2R (Shear force and bending moment diagrams) - (10 4 )

— EL
(2% Bl- aZ2 - b B2 42064 5% TR 255)

: \
N\
A N
7 N
L
Bl =
| q
N\ \
\\\—vx § > X
|
A ;

(6|_2 ALX + x?)
24EI

"tH= b




15130 > - 5k

10# 2534 B R 100 M4 B L F S840 el 15230 (%5 )
5 B ﬁg T
il BRI

A2
P31 EFT (sHE245F)

A

£
(RS

1

= oMz - LEAeR R &S et R Y RS T S E R R

S AP B R e 2 A TR H,? R o
O E et A R o (104 )
Ot E A e g g o (104)
(& = 2% *a?? Y 4 fedk & 72 G < 1}?*11123%%& EEE)
AtA,
=—")
Lm
e )
: ol
N
' |
' |
' |
: |
|
—— =
) b (

e~ Ble - BARE R Tg o iR d R - B X A 60°xy T b4 Pt

O 5 Hér e 250 g f—?& 17 Hﬂ; (area moment of inertia) - (10 4 )
(N in‘-%%frm ek~ 5k 54 (tensile stress) frs =~ B4 (compressive stress) o

(15 % )
y 12 cm
T P=100 N | | 6cm
a
Lo |
N —x NA. 30 cm
& 5 r6 cm
>|| L s 3cm
4m ) 24cm



